Problem Set A
i Study the congruent sides and angles shown by the tick marks,
then identify the additional information needed to support the
specified method of proving that the indicated triangles are con-
gruent. ‘
; Needed
Triangles Method Information
a % e ¢ AHGj and AOKM  SAS — ——
~_ ' ASA !
MoH ‘ J
b % APSV and ATRV ~ SAS . !
ASA ?
f
e W 7 AWBZ and AYAX SSS ?
ﬁ SAS ?
Y

X

2 Using the tick marks for each pair of A, name the method (SSS,
SAS, or ASA), if any, that will prove the A to be =.
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AABD and AAEC
3 Giver; AB = CB, 8
LABD = £CBD
Prove: AABD = ACBD

|G-




Given: 21 E_Z;g,
EF = HF

Prove: AEF] = AHFG

Given: RO 1 EP, _ ‘
MO = OP :
Prove: AMRO = APRO

Given: if bisects £ TSB. )
VS hisects £TVB. /\
S \'

Prove: ATSV = ABSV

Given: TV = XW,

\

Prove: ATVA = AXWA

Given: BC = FE,
DC = DE,
2h = L6

Prove: ABDG = AFDG

Twao triangles are standing up on a table-
top as shown. PA = PC and BA = BC.

Prove: APBA = APBC

The perimeter of ABCD is 85. Find the
value of x. Is AABC congruent to AADC?




11 Given: ZN is comp. to ZNPO. N )
£8 is comp. to ZSPR.
ZNPO = /.SPR,
NP = 5p

Conclusion: ANOP = ASRP 0 P R
| .

12 Given: O is the midpt. of AY.
O is the midpt. of ZX.

Conclusion: AZOA = AXQY

13 Given: EO = KM, K

E .

FO =M, : .

EG = K&

F is the midpt, of EG. F : )
[ 0 M

] is the midpt. of KA.
Conclusion: AEFO = AKM

G H

14 Given: £1 = /4, N
PR =TS,
NP = NT
Prove: ANPR = ANTS 1.9 3. 4

15 Given: GH = K], 0 M
i = IO,
GO =KM

Prove: AGOJ = AKMH

H J K

16 Given: £R = 2N,

T S R
RP = NT, ‘
RT = NF, :
TS = OP .
N s P

Conclusion: ANQOT = ARSP

Problem Set B

17 Given: 21 = L8,

BC = EC
Conclusion: AABC = ADEC







